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AP Microeconomics

Unit 3: Basic Economics Concepts 
*Question order is not consistent across assessments.

Lesson 2: Costs, Benefits, and PPF 
Quiz
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Lesson 3: Concepts of Basic Economics Dropbox
Sample Work – Teacher Graded





Lesson 4: Production and Trade
Quiz
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Lesson 5: Concepts of Production and Trade Dropbox
Sample Work – Teacher Graded

Lesson 6: The Scientific Tools of Economics
Quiz
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Lesson 7: Wrap-Up
Test
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Lesson 8: Basic Economic Concepts Essay Test
Essay Test – Teacher Graded
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+/ Question 1 1 point

True or False: According to economic theory, when people make a decision, they only
consider the sunk cost involved.

O A Tre
(@) B. False.
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+/ Question 2 1 point

True or False: Since sunk costs aren't relevant to current economic decisions, they have

no effect on those decisions.

O A Tre
V(@ B. False,
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+/ Question 3 1 point

‘The amount of  good that must be given up to produce another good relates to the
concept of:

() A specialization
/(@ B. opportunity cost.

O ¢. trade.

(O . scarcity.

(O E. efficiency.
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+/ Question 4 1 point

True or False: The key to marginal analysis in a cost-benefit analysis is weighing the
additional cost against the additional benefit,not the total cost against the fotal benefit

V@ A Tre
(O B. False,
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+/ Question 5 1 point

In using marginal analysis, we:

0000 ®

examine only the marginal costs
add up all the different possible opportunity costs.
include sunk costs and opportunity costs.

include all costs, even sunk costs.

examine only the sunk costs,
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+/ Question 6 1 point

Assuming ceteris paribus, how would a decrease in the supply of labor be represented on
2 production possibilities frontier?

() A. Movement off the curve to a point inside the frontier
(O B. Movement to right along the frontier

/(@ C. Inward shift of the entire frontier
(O D. Outward shift of the entire frontier

(O E Movement to left along the frontier
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+/ Question7 1 point ~

Which of the following is a statement of positive economies?

(O A Ihope unemployment comes down soon

(O B. President Bush's way of dealing with unemployment is better than President
Clinton's.

() . Ithink everyone should sacrifice to reduce the deficit.
/(@ D. Iftaxes are reduced, unemployment will drop.

() E. None of the above
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+/ Question 8 1 point

True or False: On the graph below, if some resources are used inefficiently, the economy

will operate at point A

O A True

(@) B. False.
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+/ Question 9 1 point ~

When economists evaluate consumer behavior, they assume:

(O A everyoneis greedy.
() B. everyone values each good by the same amount.

() €. everyone has the same amount of money, in keeping with principle of ceteris
paribus.

/(@) D. everyone acts in his or her own self-interest

(O E everyone's opportunity costs are the same.
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+/ Question 10 1 point

True or False: I you and your friend have the same choice of activities on a Wednesday
evening, you each have the same opportunity cost for your choices.

O A Tre
(@) B. False.
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+/ Question 11 1 point

True or False: An opportunity cost s a sunk cost.

O A Tre
(@) B. False.
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+/ Question 12 1 point

True or False: Inefficient production and unattainable production mean the same thing

O A Tre
(@) B. False.
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+/ Question 13 1 point ~

Suppose you have three choices as to what to do for two hours on Sunday afternoon:
work around the house, earning $3.50 an hour; baby-sit for your neighbor earning $10 an
hour; or go to the movies and pay $6 for a ticket. You choose o go to the movies. What is
your opportunity cost?

O A s10
O B. 81350

v@® c 26
(O D. 8350

O E$27
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+/ Question 14 1 point ~

Suppose you have the opportunity to work in the concession stand at a football game for
two hours, at $5/hr. Instead, you decide to go to a concert whose ticket costs $12. Which
of the following is closest to your opportunity cost for going to the concert?

O A s12

(O B. $20plus the chance to see the concert

QO c 20

/(8 D. $22 plus the chance to work at the concession stand

(O E. $10plus the chance to work at the concession stand
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+/ Question 15 1 point

Which of the following is a normative statement?

(O A The deduction for state taxes cost the federal government $100 billion
year.

(O B. Taxpayers in North Carolina pay state taxes that are above the national
average.

(O C. Twenty-two states use a lottery to raise state taxes.

/(8 D. Congress is considering Bushis tax plan to decrease taxes, which is a fair
plan.

() E. None of the above
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+/ Question 16 1 point

True or False: Economists believe that all people except for the very, very wealthy have

limited resources.

O A Tre
V(@ B. False,
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+/ Question 17 1 point ~

Whatis the primary difference between normative and positive economics?

() A Governments use normative economics and businesses use positive
economics.

() B. The goal of positive economics is to say what action people should take; this
is not true in normative economics.

() . Positive economics makes value judgements inappropriate to scientific
research.

/(8 D. The goal of normative economics is to say what action people should take;
this is not true in positive economics.

(O E. Normative economics is more firmly rooted in scientific tradition.




image18.png
+/ Question 18 1 point

True or False: Because we face limited resources and unlimited wants, we must make
trade-offs.

V@ A Tre
() B. False,
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+/ Question 19 1 point

‘Trade-offs are made out of necessity. They are necessary due to

(O A opportunity costs.
@ B. scarcity.

O c. sunkecosts.

(O D. choice.

() E. None of the above
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/ Question 20 1 point

On the graph below, movement along the PPF from point A to point B indicates that

() A. aggregate production has decreased.
(O B. production is now more efficient.

() . aggregate production has increased.
(O . production is now inefficient

+/ (® E. the production of some goods has increased, and the production of other
goods has decreased.




image21.png
+/ Question 1 1 point

True or False: Economists feel that unregulated interational trade is always the best

solution and has no disadvantages.

O A True
(@) B. False
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+/ Question 2 1 point

True or False: If a person has a lower opportunity cost of producing corn than other
people, that person has an absolute advantage in producing comn.

O A Tre
V(@ B. False,
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+/ Question 3 1 point

True or False: The shape of the PPF is bowed because the trade-off ratio between the
two goods is constant

O A Tre
(@) B. False
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+/ Question 4 1 point

Suppose you can mow a lawn in two hours and wash five cars in the same amount of
time. Your neighbor, Mr. Gedye, can mow a lawn in one hour. In order for him to have a
comparative advantage in mowing lawns, how many cars must he be able to wash in two
hours?

(O A The number of cars he can wash s irrelevant in determining the comparative
advantage.

/(@ B. Fewerthanten
() €. More than five and fewer than ten
(O D. There isn't enough information to say.

(O E Morethanfive
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+/ Question 5 1 point

True or False: Both people and countries are motivated by their opportunity costs to
specialize.

V@ A Te
() B. False,
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+/ Question 6 1 point

True or False: According to early economist David Ricardo, if countries follow the law of
absolute advantage, trade and specialization will be mutually beneficial

O A Tre
V(@ B. False,
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+/ Question7 1 point

Suppose you can make 12 pizzas or paint 1 fence in an hour. Your brother, on the other
hand, can make 8 pizzas or paint 2 fences in an hour. Which of the following statements
is true?

(O A Your opportunity cost for making 1 pizza is painting 1/6 of a fence.
(O B. Yourbrother's opportunity cost for making 1 pizza s 4 fences.

/() C. Youhave a comparative advantage in pizza production
(O . Your brother's opportunity cost for making 1 fence is making 1/4 of a pizza.

() E. Youhave an absolute advantage in both activities.
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+/ Question 8 1 point

Suppose Doward can peel 15 potatoes in an hour, or he can slice 20 onions in an hour.
Shashawna can peel 30 potatoes in an hour, or she can slice 25 onions. Which of the
following statements is true?

() A. Shashawna has a comparative advantage in onion slicing

(O B. Doward has a comparative advantage i potato peeling.

(O €. Doward's opportunity cost of peeling one potato is 6/5 of an onion.
(O D. Shashawna's opportunity cost of peeling one potato is 6/5 of an onion.

/@ E. Shashawna has an absolute advantage in both activities.
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+/ Question 9 1 point ~

Suppose you can clean 3 windows or wash 2 shirts in one hour. Your friend Mookie can
clean 6 windows or wash 4 shirts in one hour. Which of the following statements is true?

/(@ A. Your opportunity cost of cleaning one window is 2/3 of a shirt
() B. You have an absolute advantage in both activities.
(O €. Your friend's opportunity cost of washing one shirt is 2/3 of a window.
(O D. You have a comparative advantage in cleaning windows.

() E. Yourfriend has a comparative advantage in cleaning windows.
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+/ Question 10 1 point

True or False: Trade mutually benefits those who participate i it because of the
differences between opportunity costs.

V@ A Tre
(O B. False,




image31.png
+/ Question 11 1 point

What does it mean to be "efficient?”

(O A Aneconomy s efficient if the production of any one good or service can be
increased without increasing the amount of resources used or the
production of another good or service.

() B. Toproduce the greatest number of a single good as is possible

(O €. Toproduce at a point outside the PPF.

+/(® D. Aneconomy is efficient if production of one good or service must be
decreased in order to produce more of another.

(O E Toproduce ata point inside the PPF
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+/ Question 12 1 point

Inthe case of international trade, which of the following does not benefit all nations.
involved?

A Specialization
B. Comparative advantage

C. Ability to produce goods at a lower opportunity cost
D. Division of labor

E. All of the above are benefits

®@ O 00O
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/ Question 13 1 point ~

Robinson can pick 50 pieces of fruit or catch 20 fish in a day. Friday can pick 40 pieces of
it or catch 10 fish in a day. Which of the following is a likely trade?

(O A. Robinson gives Friday 1/2 a fish in exchange for a piece of fruit

(O B. Friday gives Robinson 1 piece of fruit for a fish.

(O . Friday gives Robinson 4 fish in exchange for one piece of fruit.
+/ (® D. Friday gives Robinson 3 pieces of fruit in exchange for one fish.

(O E- Robinson gives Friday 3 pieces of fruit in exchange for one fish.
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/ Question 14 1 point

True or False: If the country called Superproducia can produce goods and services using
fewer resources than any other country in the world, then Superproducia should produce

everything for itself and not trade.

O A Tre
(@) B. False.
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+/ Question 15 1 point ~

Robinson can pick 50 pieces of fruit or catch 20 fish in a day. Friday can pick 40 pieces of
fruit or catch 10 fish in a day. Which of the following statements is not true?

() A. Robinson has a comparative advantage in fish.

(O B. The cost of Friday catching one fish is four pieces of fruit
/(@ C. The cost of Robinson catching a fish is 2/5 of a piece of fruit.

() D. Friday has a comparative advantage in fruit.

(O E. The cost of Friday picking a piece of fruit is 1/4 of a fish.
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+/ Question 1 1 point

True or False: Since people are unpredictable, economists cannot make generalizations
about the actions of large groups of people when making theories.

O A Tre
(@) B. False.
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+/ Question 2 1 point ~

Economists have a theory called the law of demand. According to i, people will buy more
goods at alow price and fewer goods at a high price. What assumption by economists is
most responsible for this behavior?

() A. People are unpredictable, but their collected actions tend to even out

/(@ B. People act in their self-interest.

() €. Association is causation
() D. Causation is association.

(O E Ceteris paribus.
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+/ Question 3 1 point ~

Which of the following hypotheses makes the mistake of not specifying its assumptions?

Rudolf Nureyev was the world's greatest ballet dancer, as determined by the
number of standing ovations he received at the Bolshoi Theater.

General Motors is the largest auto manufacturer in America, as determined
by the number of cars produced a week.

Soccer is the world's most popular sport, as determined by the number of
people who attend games and watch them on television.

China is the worlds most crowded country, as determined by the number of
citizens per square mile.

Peonies are the world's most popular flower. They're very pretty and are a
delight to the senses.
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+/ Question 4 1 point

Whatis wrong with the following statement? If it rains today, my favorite TV show wil be
on tonight

/(@ A Fallacy that association is causation
() B. Faulty ceteris paribus
(O c. Fallacy of composition
(O D. sample selection bias

() E. Unaccounted variable
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+/ Question 5 1 point

True or False: Once a theory becomes a law, it can never be proven false.

O A Tre
V(@ B. False,
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+/ Question 6 1 point

Whatis an independent variable?

() A Avariable that always changes, and changes all other variables

() B. Avariable that interacts with no other variable

() C. Avariable that never changes, or canit be changed by any other variable
/@ D. Avariable that causes another variable to change when it changes

() E. Avariable that changes when another variable changes
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+/ Question7 1 point ~

Which of the following hypotheses is the best example of the mistake of ignoring
unaccounted variables?

Abaseball fan believes that Ken Griffey, J. is hitting more home runs this
year because he'

improved his swing,

A football fan believes that Denver Bronco running back Terrell Davis is so
successful because his offensive line has many years of experience, the
players on the line are bigger than average players on other lines, and Denver
also has a good passing game, which makes defending the run difficult

Abasketball fan believes that Kobe Bryant became a better basketball player
when he put on some exira weight. Therefore, the fan thinks all basketball
players should put on some extra weight if they want to become better
players too.

Achess fan believes the greatest chess player of all times, as determined by
the number of world championships scored, is Bobby Fisher.

A hockey fan believes the Detroit Red Wings won the Stanley Cup because
the spirit of hockey's past was rooting for the team.




image43.png
+/ Question 8 1 point ~

Which of the following hypotheses is an example of the fallacy of composition?

O A

Afootball fan believes that Denver Bronco running back Terrell Davis is so
successful because his offensive line has many years of experience, the
players on the line are bigger than average players on other lines, and Denver
also has a good passing game, which makes defending the run difficult

A hockey fan believes the Detroit Red Wings won the Stanley Cup because
the spirit of hockey's past was rooting for the team.

Abasketball fan believes that Kobe Bryant became a better basketball player
when he put on some exira weight. Therefore, the fan thinks all basketball
players should put on some extra weight if they want to become better

players too.

Achess fan believes the greatest chess player of all times, as determined by
the number of world championships scored, is Bobby Fisher.

A baseball fan believes that Ken Griffey, Jr is hitting more home runs this
year because he's improved his swing.
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+/ Question 9 1 point

Which of the following is not one of the four steps of the scien

(O A Make a hypothesis
(O B. Specify assumptions

/(@) c. Ceteris paribus
(0) D. Testand then accept, revise, or reject hypothesis

(O E. Identify and define key variables
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/ Question 10 1 point

Read the following statement and then select the fallacy that characterizes it most
accurately: "My friend Lupita got a good seat on the bus by getting to the bus stop five
minutes earlier than normal. f everyone gets to the bus stop five minutes earlier, they ll
all get good seats.”

/@ A Fallacy of composition
(O B. Unspecified assumptions
() C. Faulty ceteris paribus
(O D. Mistake of ignoring unaccounted variables

() E. Fallacy that association is causation
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+/ Question 1 3 points ~

Which of the following is an example of a special problem faced by economists when
they apply the scientific method?

(O A Economists canit measure the value people place on things.

() B. Economists canit employ the scientific method because people’s choices are
completely unpredictable

(O €. Economists canit make assumptions about the underlying motivations of
people.

(O D. Economists routinely rely on faulty data.

/(8 E. Economists can't st up experiments to test people’s reactions to changes in
the economy, such as changes in the unemployment rate.
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+/ Question 2 3 points

When lawmakers originated Medicare to decrease the burden of medical expenses on
the elderly, they didn't anticipate the resulting rise in prices for medical care. This is an
example of:

/(@) A. the mistake of ignoring secondary effects and unaccounted variables
O 8. fauly ceteris paribus.
() cC. sample selection bias
(O D. the fallacy of composition.

(O E. the fallacy that association is causation.
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+/ Question 3 3 points ~

The early influential economist Adam Smith believed that free trade increased the wealth
of an economy. A later economist, David Ricardo, agreed with this. Smith and Ricardo:

() A. lso agreed that trade should be based on comparative advantage.
(O B. also agreed that trade should be based on absolute advantage

() . disagreed about trade. Smith believed in comparative advantage, and
Ricardo in absolute advantage.

/(@) D. disagresd about trade. Smith believed in absolute advantage, and Ricardo in
comparative advantage.

() E. None of the above.
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+/ Question 4 3 points

Whatis the most likely outcome when trade barriers between two nations, such as
quotas and tariffs, are removed?

(O A economic wealth increases for only one nation
() B. the prices of all goods increase.

(O . the prices of all goods remain unchanged

(O D. everyoneis better off.

+/ (® E. economic wealth increases for both nations.
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+/ Question 5 3 points ~

Toni and Carrie work for a web publishing company. Given the information in the table
below, which of the following statements is true?

() A. Carrie has an absolute advantage in producing HTML text pages, since her
opportunity cost is less for producing this good.

(O B. Tonihas an absolute advantage in producing HTML text pages only.

(O €. Toni has a disadvantage in producing either graphic visuals or HTML text
pages.

() D. Carrie has no comparative advantage.

+/(® E. Tonihas an absolute advantage in producing both graphic visuals and HTML
text pages.
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+/ Question 6 3 points

Aproduction possibilty frontier would shift inward if which of the following events
oceurred?

(O A The labor force grows significantly.
/(8 B. There is a recession and many people are unemployed

(O €. Many new manufacturing plants are built.

(O D. Newtechnology is invented

(O E. The country invests in higher education.
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+/ Question 7 3 points

Opportunity cost is:

() A. the same as sunk cost

(O B. thecostofanitem.

() C. the same for everyone.

(O . the value of all opportunities sacrificed

/(@ E. the value of the next best opportunity sacrificed.
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+/ Question 8 3 points ~

The information in the table below shows the production possibilities of two countries,
Farflungia and Overthereica.

100 50
200 150

f the countries of Farflungia and Overthereica trade on the basis of comparative
advantage, which of the following choices is the best statement?

/@ A Farflungia has a comparative advantage in the production of food and so
should specialize in producing food and then trade for toys.

(O B. Overthereica has a comparative advantage in the production of food and so
should specialize in producing food and then trade for toys.

(O . Farflungia has an absolute advantage in the production of food and so
should specialize in producing food and then trade for toys.

(O . Farflungia has an absolute advantage in the production of food, and
Overthereica has a comparative advantage in the production of food.

(O E. Farflungia has a comparative advantage in the production of toys and so
should specialize in producing toys and then trade for food.
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+/ Question 9 3 points

Productive efficiency means:

O A

O 8
v@® c

O o
O E

firms in the economy that are producing above their PPF are balanced by
firms in the economy that are producing below their PPF.

allfirms in an economy are successfully maximizing their profits.

anincrease in the production of one good cannot occur without a decrease
in the production of another good.

the economy is producing at a point inside its PPF curve.

resources in the economy are being allocated in a way that maximizes the
satisfaction of consumers' wants and needs
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+/ Question 10 3 points ~

People trade because

() A trading is a natural instinct
/@ B. people expectto be better off by the trading
() . people are seffish.
(O D. atleast one party to the trade wil be better off, evenif the other is worse off

(O E. voluntary trade always makes people better off.
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Given the following production possibility frontier, movement from point 4 o point 3
illustrates:

Production Possibilities

Leisuro Time in Hours.

Chapters Reviewed

() A. the student s giving up both leisure time and chapters reviewed.

(O B. point 3 lies outside the production possibility curve and therefore the
student can't attain this combination.

() €. the student gave up reviewing some chapters in order to have more lsisure
time.

() D. the student is gaining more leisure time and reviewing more chapters.

/(@ E. the student must give up some leisure time in order to review more chapters.
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+/ Question 12 3 points

Which of the following could be considered an example of the opportunity cost of
producing one more unit of product x?

(O A The amount of money paid at the store for product x
(O B. The profit made from selling product x

/@ C. The additional amount of product y that can' be produced because more of
product xis being produced.

(O D. Allthe human and capital resources used to produce all of product x

(O E The amount of money the store owner paid to buy product x
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/ Question 13 3 points ~

Which of the following is an example of a positive economic statement?

(O A. Raising the minimum wage will hurt the economy.

() B. Free trade and NAFTA will lead to the loss of high wage U.S. manufacturing
jobs and hurt the economy.

/(@) C. Free trade agreements and NAFTA will reduce the prices of imported goods
by eliminating certain trade barriers and tariffs (taxes).

() D. People such as Ross Perot assert that free trade will make you worse off,
and they have the charts and facts to prove it

() E. Free trade is bad because it will take away people’s jobs.
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/ Question 14 3 points ~

Money acts as a rationing device for goods in a market economy. This means;

(O A consumers with the most money always get the good

(O B. anincrease in the price of a good always means consumers value the good
more,

() C. the price of a good increases as the resources available to make the good
increase.

+/(® D. consumers who are willing and able to pay for a good are usually able to get
the good.

() E. consumers who place the highest value on a good always get the good
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+/ Question 15 3 points

f you have the absolute advantage at a task, that means you:

/(8 A. usefewer resources to do the task than anyone else.
() B. usemore resources to do the task than anyone else.
(O C. give upless altenative production to do the task than anyone else.
(O D. havethe lowest opportunity cost to do the task.

() E. give up more alternative production to do the task than anyone else.
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+/ Question 16 3 points ~

Suppose you draw a hypothetical PPF for the smallisland nation of Sunensurf. The
economy is able to support the production of two goods, surfboards and sunscreen. Your
PPF graph vill have:

(O A the price of aloe for sunscreen on one axis, and the price of wood for
surfboards on the other axis.

(O B. the price of surfboards on the vertical axis and the price of sunscreen on the
horizontal axis.

(O C. the price of labor on one axis, and the price of other inputs on the other axis.

/(8 D. the quantity of surfboards on one axis and the quantity of sunscreen on the
other axis.

() E. the price of sunscreen on the vertical axis and the price of surfboards on the
horizontal axis.
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+/ Question 17 3 points

Alaw s

() A aproventheory.
(O B. neverwrong.

(O €. aproven hypothesis.
/@ D. atheory widely believed to be true.

(O E. fixed and unchanging.
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+/ Question 18 3 points

Since my local baseball team loses every time | go to a game, | conclude that going to
the game makes them lose. This is an example of:

() A. sample selection bias.

/(@ B. the fallacy that association is causation.
() C. faulty ceteris paribus.
(O D. the fallacy of composition.

(O E. the mistake of ignoring secondary effects and unaccounted variables.
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+/ Question 19 3 points

The bowed shape of a production possibilities frontier indicates:

(O A. that the economy is producing efficiently.
(O B. thelaw of increasing costs.
() C. thelaw of decreasing costs.

/(@ D. thelaw of increasing opportunity costs.

(O E. the law of increasing production
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+/ Question 20 3 points

Economic growth means the PPF has shifted:

(O A toward the origin, and the economy can support more production
(O B. toward the origin.

(O c. away from the origin.

(O . away from the origin, and the economy can support less production.

/(@ E. away from the origin, and the economy can support more production.
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+/ Question 21 3 points

All of the following are reasons why specialization increases the possible production in
an economy except.

/(@ A. workers who specialize love their jobs.

() B. workers who specialize are more likely to come up with better and faster
ways of doing their tasks.

(O €. workers who specialize don't lose time changing tasks.
(O D. workers who specialize become very skilled at their jobs through repetition.

() E. workers who specialize can learn their tasks faster
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/ Question 22 3 points ~

Which of the following is correct?

A

If you see a nation producing at a point within ts PP, the production of one
good may be increased only by decreasing the produstion of another good

If you see a nation producing at a point within its PPF, its economy is using
its resources inefficiently.

If you see a nation producing at a point on its PP, its economy is wasting
resources.

If you see a nation producing at a point outside the PPF, its economy is using
its resources inefficiently

If you see a nation producing at a point onits PPF, its production of one good
may be increased without decreasing the production of any other good.
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/ Question 23 3 points ~

All of the following are problems economists face in testing their theories and models
except that

OO0 O O®

A

people act consistently and rationally at all imes.

they are unable to repeat real world events and conditions in order to test the.
predictions made by the model.

other economists offer conflicting theories, which sometimes can be equally
convincing

its hard to get the public to participate in economic experiments.

due to measurement errors and other problems, experimenters don' always
get the same response to identical conditions.
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/ Question 24 3 points ~

Choose which student is most likely to specialize in being a white-water rafting guide for
$50 a day in July and August.

(O A Astudent who gives up $100 a day as a paid inter in a law office
() B. Astudent who must take summer classes to graduate on time
() C. Astudent whose fall semester starts the last week of August

+/ (® D. Astudent who gives up the opportunity to earn $20 a day on a fish cannery
boat in Alaska

() E. Astudent who gives up an all-expenses-paid trip to China,
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+/ Question 25 3 points

Which of the following would not cause an outward shift in the PPF?

(O A Anew entrepreneurial spirit in workers throughout the economy
/(@ B. Alargerincome for workers

(O . Alarger working population

(O D. The discovery of alarge oil deposit

() E. Agreater number of machines per worker
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+/ Question 26 3 points

Acostis a sunk cost if

() A. the costis money spent on a sailboat.
(O B. the costis an opportunity cost.
() C. the costis a marginal cost
/(8 D. the cost cannot be avoided because it's the resuit of a past decision.

(O E. thereis no such thing as a sunk cost in economics.
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+/ Question 27 3 points

When we look at the PPF graphs of different people for the same goods, we cannot

(O A draw any conclusions.
() B. determine who has the comparative advantage.
/(@ C. determine at what point on the graphs each should produce.

(O . determine who should specialize in which task in order to use resources
most efficiently.

E. determine who has an absolute advantage.
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+/ Question 28 3 points

Ceteris paribus is a key phrase in economics. It means:

A given a fixed price.

B. both hold everything else constant and ignore all other factors.
(O . bothignore all other factors and given afixed price.

+/(® D. hold everything else constant.

() E ignore all other factors.
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/ Question 29 3 points

Which of the following is an example of normative economic analysis?

() A. The slowdown effect of higher taxes can be offset by increased spending.
(O B. Normally, higher taxes create higher tax revenues for the government
/() C. Higher taxes are desirable because we nesd to decrease the debt.

(O . Paying off the debt by decreasing other types of government spending will
create an economic slowdown.

() E. Higher taxes often create an economic slowdown.
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/ Question 30 3 points ~

Which of the following statements is true?

(O A Increased specialization leads to decreased interdependence
/(8 B. Increased specialization leads to increased interdependence.
() C. The degree of specialization in the U.S. has decreased over the years.

(O D As the degree of specialization and interdependence has increased over the
years, dependency on government services has declined.

E. Decreased specialization leads to increased reliance on others.
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